2EBREEXEHBE RS (SNWT7TE7H2 0 B#HAT)

REmORERER

(1) REHR (EAREEHZET.)

X 4 Y E e 1A wEE (%)
5 19,621 13,429 68. 40
L°8 20,610 14,087 68. 35
&t 40,231 27,516 68. 40
(2) SEmEXRKMEEE (B FHSE505 KT FH10BESH)
G B E RS B mEy
I=Eiva
1 BERK Lw>U HHEE®E 13,099
2 BEN A AREEY 6,357
3 WE A B 5,707
4 MHE LT3 HARLER 1,270
5 NE EAN NHK %% 369
&t 26,802
BHEE (A) 26, 802
| BEAR 26, 802
A DB EIE T 72 & O 0
RIVFTNOBRBBEIZEBLEVE D 0
WAL= (B) 114
sEm@H (A) + (B) = (C) 27,516
*2® (D) 0
* £ (E) 0
REERE (C) + (D) + (E) = (F) 27,516




2BREIEFREZRZHBE ESE (SMTE7H 2 0 BHIT)

BENOEERE

(1) REHR (EAREEHZET.)

X 5 LHE®REK BREEZEHK BREZ (%)

5 19,621 13,429 68.40
Z 20,610 14,087 68.35
Bl 40, 231 21,516 68.40

(2) geXTHERMAERER (B FR8BE500

BT i1kl 84)

B= N
o HERHBRE BE
I=Eiva

1 HHEX® 8,338.505
2 S B 4,140.000
3 EREEX® 3,739.273
4 YERIHRE 2,439. 345
5 b EEM 1,735.911
6 NBR 1,528.785
7 HARMEH D= 1,311.000
8 H AR R 1,092.000
9 HA#LER 847.034
10 F—AHH5 415.000
11 HE2RER 275.000
12 NHK % 230.000
13 BEDE 202. 142
14 HABKES 145.000
15 HmrEEA 84.000
16 HA®RER 20.000
&t 26,543.000
BEHHRE (A) 26, 543
K| B EREK 26, 542.995
BHOBRYBTELEED 0.005
RIVWFThoBEHBEIZEBLRVED 0
BHHE (B) 972
LERH (A) + (B) = (C) 27,515
r=# (D) 0
* B (E) 1
BREERHE (C)+(D)+(E) = (F) 27,516




